8. (a) Oovaﬂm a_mn_m< _Bv_mam:ﬁmﬁ_oz 5_5 static

chain pointer _Bv_mam:»mzo:

(b) Ooanmﬂm call 3\ <m_cm _.mwc: m:a call by
reference nmﬂm:..mﬁmﬂ vmmw_am Bmosm:_mam ‘
Can ~:m< v«oacom Q_mmqm:ﬂ _.mmc:m ? When ?

9. (3 <<:mﬁ is meant by qmacc&_m :oé m_.mv: i
mxn_m_: with suitable mxmBn_mm

< (b) Umz:m Em Bmm:_zm o* ﬁmzam line <m:mm_m

and m<m__mc_m mxuqmwm_os with mc;mv_m .
.mxmBn_mm Which oﬁ 5m3 isa ﬁogm_d *_oé _

problem and E:_os _m a umnxém_d :o<<
Eo,,.c_,mB ?

10. .Om:mﬂmﬁm ooam for the 8:923@ amm_o block :m_:@

“gencode m_moq_ﬁja
 ~A|U+o
| A»Nna e
t3=t2te
x..ﬁm 3

>wwc35m H:mﬂ 2<o am_mﬁma are m<m__mc_m

%
%
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~ Time i3 EQW
. ,WE\ \S_ma.a ‘.._mo
Om:o.im“mm are BQ:SWQ 8 .Q:\m Sﬁs answersin
39\ own s\oB.m mm far as bwmn:nmc\m _
ﬂ:m x@:wmm in Sm Sm@: SQamﬂm E\\ Smia

Answer from uo% the .mwosum_mm directed.

Q_,o:v A
AOEmoﬁEmé_om D:mmﬂ_o:mv
>:m<<9 m= ncmmﬁ_o:w

O:oowm the oo:,mQ m:ws\mﬁ o* H:m *o__oé_zm
Ni g=o0

Amv Inatwo nmmw-mmmmac_mﬂ adding _;mﬁm_ table
.and address resolution o* _oom_ m<3vo_ are
ao:m cm_:m .

3 First vmmm m:n_ wmoo:a qmmvmoﬁzm_«\

o_v Both mmoo:a pass .

ME-18/2 (Turnover) .
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(d)

ME — 18/2

(iii) Second nmmm and ?.ﬂ ﬁmmvmoc<m_<
(iv) mo% :aﬁnmmm

In two pass assembler, the o_c_.moﬁ.o.oam
@mzmquﬁmoa _m done during the:

(i) Second uumw

(ii) First pass

(iii) Zeroth pass

(iv) Notdone by assembler

Pick the ,3,mo,:3m independent _urmwm of ﬁ:m :

oan__mq

(i) m<3mx m:m_<m_m

cc Code generation

;c__v Lexical analysis

(iv) _:ﬁquma_mﬁm ooam @m:mﬂmﬂ_o:

A m<m$3 vﬂomﬁmB that combines the

‘separately moiu:ma 30@:,_8 of a program

_into a form suitable for execution :

() Assembler
(i) Linkingloader
{2y ~ Contd.

(iii) Cross compiler

(W) Loadandgo

(€)

(9)

) _.mx_om_ m:m_<m.m

ME-18/2 (3)

(i) mnqmma m:mmﬁ

() None of above

Which of the following type of software
should be used if you need to create, edit

“and print document ?

OF <<,o_d n_,o;o.mmmm:m

e__v _ummxﬁo_u P._E_ms_:@
A_é UNIX
(v) None ofthe m_uo<.m

Oc:u& Ew 9« the Lex is the _:n&

jm in myfile:

(iy Myble.e .
(il _<_§_m.<< .,o _
(iii) _<_<a_m lex

(iv) . Zﬁ__m oE

.@nm o:mox.:m is :o::m__< done chzm

(i) Syntaxanalysis

(Turnover)



(h)

(B

(iii) Syntax directed translation

(iv) Code generation

Yacc is available as a command on the ?

(i) MINIX
- i)y UNIX
(iii) DOS

(iv) None of the above

Loading uﬂoomwm can be divided into two
separate programs, fo solve some _uﬂoc_mB
The firstis _u_:am_‘ :..m oSm_. IS

(i) r_:xmmm ma;oﬂ .

- (ii)y Module Loader

(iii) Relocater -

- (iv) ZQ:m oZ:mmm .

In rmx a o_mmm _m ooa_o_m_.:mama U< first
placing —
M A
(i) OR
e_o —

.cs NOT

z_ml.,\_m\m ?: o - Contd.

 Group-B
?o:n.m:mi_m_, va O:omao:mv,,
>:m<<mﬂ any _“o:_. ncmmﬁ_o:m oﬂ ﬁsm following :
15%x4 =60

2 (@) Whatis ﬁ:m a&mqm:omm _umgmm: a ooBu__mq

and an interpreter ? -

(b) ;.Ooam oE_B_cho: is an o_oﬁ_o:m_ u:mmm of
. oo_,:n__mao: _oﬁoommm.. 'Comment.

3. (@ ,Oosm_am_1 Ew ,ﬂo__oé_zu n_.ooqm_j

. BmSC
g e
intxX,Y,Z;
 ZExeY
List down the Exmﬁamm‘_ tokens and the
m::ucﬁm.m of the token, at the end of the
lexical m:,m_«awm of Em, above program.
(b) Construct a minimal state DFA for the
. ﬁo__mé:@ ﬂmnc_m_, expression :

(a|b)* I (ab)* b] a* (ob)*

ME - 18/2 . ( Turnover)



Amv m__BSmﬂm all m -uqoacoﬁ_o: _“_,03 Sm ,ﬂo__os._:u

@_‘mBqu

._m¢m>m_a>

"A—>DbAc|e

- ()

5. ‘\@

BodBle

Consider Em., following grammar :

_m|v>m

>|vm>c_mv

B—Bc|c

.,7<.<:$ Em,_mnaoﬂ m_m,im:,m,m _,6338,"

am:<maoz.mmo_:m:om for the mi:m aabbcc..

Oo:chg _.Ké Um_,mm sHm__o_m for ﬁ:m mo__oé_:m
@833&

'S aAC | bB

A —£D

. DbEje

E—s¢D|dD

B—flg
C-sh|i

MESi8B (&) L cond

(b)

©

(a)

(b)

m<m_1<, c:macmmco:w mBBBm,_, is :.:v..
, OoBBm:ﬁ on the true / *m_mm hood of Sm

mﬁmﬁmSmsﬁ

OE,mS _‘mm:_m_. grammar mn:?m_ma to Em.

ﬂm@c_m_. mxn..mmm_o:m m_<m: _um_o<<

() a Am_wvcc

() (ab)" ba(ab)*

mxn_m_s the Bmms_:u Qa the ﬁo__os::u 636

~ bygiving: mcnmc_m mxmau_mm
. Ima_m,

(i) Viable prefix
Oosm_amq Em *o__os\_:m m«mBBmﬁ
S—a > b

He S )

>!v>m_m

Construct CLR :v / E..NA: .om_qm_so table for

 the above grammar.

(@)

(b)

_,\_mLm\m (7

Explain <§< m<m_< m-m::_ocﬁma %, :_ﬁ_o: is _..

. . mm_,_usma

Discuss Em ma<m:ﬁm@mm and a_mma<m2m@m _
of m_‘_o: o:oc; evaluation of moo_mm?
manmmm_o: <<_=J suitable examples.

3.:3 over)



